FALH B EGE 5T

2
=
S
2
1

aF 54 3H

A A s EOE HRR A A e S

T e 7 B S T



1. I

2. B

4. fiL

5. i

T + B E2)
4 WAL H BN EE s T ISR T
4 WAk B Eh s
UNEI=E ST
AT (B) HFR BV K¥E (FER 1 C)
&F) HFR JWEEE /WIE (ZR1C)
(B) H=FR JWEFEE AWIH (ZR]JCT)
(FE) BFR W EESFEIAR (8EFETLC)
()
(€D)
€ED)
(€D)
€ED)
=)
N
OOEUEATLHI240m
Wi {1 149130, 000 L
a7 U — FREAE T, 800t
FmPRE 1491, 800
1< RS IR R T892, 400t
a7 ) — MERETHI130m3
i H & 4E 4H  5H ~ E 4&Ffn TE 10H 200 ( 930HR)



i P- 1
T % % | A B HE ST SRR T
H B fr | 4% i MMoBl N R
W& AL K1 249, 692, 970
WiEm e L K1 212,508, 611 |OONEINIEATL 242 m
242
Wi 18 T 132, 785 L
75, 093 Z 0, 57, 692 L
a7 Y — MEREAE T 1,826 ot
1,826
13 < HEBG IERERT A1 24,629,632 |A 2,428 nt
2, 428
KR L A1 12,554,727 |2> 7 U — MEEEE T 1, 761 nt
1,761
MHET x| 1 688, 007, 221
WiE S HEE L T A1 554, 265,985 |A 1 102 m 3
A2 8 m3
B1 22 m3
Z O T x| 1 193,824 |A 72 T
A HL ) T EVI 61,611,070 |HFRHH] L XNXM 492 Al
492
MR LTS K1 71,936, 342 | ZEEME 896 NG
896 - H
AR 5 B 1,675 N
1,675 - H
A 14 m
oA i 104 m
HEKE 176 m
Al 1 (020
A2 1 (020
Al 5 (020
A2 34 (180
B1 1 =50
B3 2 =50
B T &t EV 937,700, 191
Ik T A |1 75,832, 725
I fis T X |1 74,109, 237 |5 T 1 =
e TR (BiERm) 1 v
MET HH A |1 1,723,488 |ZF Dt THE 1 EN
EEETHEE & X |1 1,013,532,916
Heim (% K |1 70, 720, 673
e Ry K |1 70, 720, 673
B A =X |1 255, 496, 111
M THEE § K |1 326, 216, 784




i B R b
T F 4 | FbEBEE ST GBI T E
H | %%
H H fr | & & il Mos N R
T 5 K |1 1, 339, 749, 700
—RE RS K |1 125, 350, 300
T {iAs EVR 1, 465, 100, 000




